
Time: 10 Minutes Paper Science 8 Total Marks: 10

1st Month, 1st Week, 4th Day Syllabus: Unit 1, Food chain & Food web

Q.No.1 Encircle the correct answer from the following choices. (0.5<<<<6====3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. Production of  food and the feeding relationship among organisms at

different levels form a chain called::::
ZZZZŠŠŠŠgggg����VVVV6666,,,,YYYY0000++++ZZZZggggzzzzVVVVÆÆÆÆŠŠŠŠggggxxxxyyyyppppggggZZZZuuuuÅÅÅÅaaaaZZZZzzzzZZZZggggZZZZzzzzgggg3333********îîîîääääÆÆÆÆmmmmÅÅÅÅuuuu¯̄̄̄********BBBB@@@@****ìììì::::

(a) Food web ¯ezd$ (b) Ecological pyramid ZrßŠ0*],Zç
(c) Food chain ¯eu (d) All of these tÓx
ii. A food chain starts at the: ZZZZqqqq----̄¯̄̄eeeeuuuuÑÑÑÑzzzzqqqqƒƒƒƒCCCCìììì::::
(a) Consumer level +-%Cw (b) Decomposer level e~ìigCw
(c) Trophic level R,Z’Cw (d) Producer level 6,ze-uCw
iii. Carnivores may be: »»»»ggggããããzzzzzzzzggggiiiiƒƒƒƒMMMMhhhh÷÷÷÷::::
(a) Primary consumers 6,ZÎ~+-%i (b) Secondary consumers ²g~+-%i
(c) Tertiary Consumers R,Ñ~+-%i (d) Both b & c ŠzâV c Zzg b

iv. A fox takes____in its diet. ggggììììXXXX _____ ZZZZqqqq----ßßßß&&&&××××~~~~ZZZZKKKKppppggggZZZZuuuu~~~~

(a) Rabbit yÍl (b) Rat a; (c) Squirrel *~ (d) All of these tÓx
v. The dead bodies of the organisms are consumed by:

YYYY0000++++ZZZZggggzzzzVVVVÆÆÆÆ%%%%ŠŠŠŠ{{{{ZZZZ����xxxxZZZZEEEEwwww™™™™DDDD÷÷÷÷::::
(a) Producers 6,ze-ui (b) Consumers +-%i
(c) Decomposers e~ìigi (d) Secondary consumers ²g~+-%i
vi. Owl and_____take different organisms as their food.

ZZZZYYYY0000++++ZZZZggggzzzzVVVVÃÃÃÃZZZZKKKKppppggggZZZZuuuuÆÆÆÆîîîîgggg6666,,,,ffffeeee÷÷÷÷XXXX _____ QQQQÅÅÅÅðððð OOOOZZZZzzzzgggg
(a) Fox ß&×~ (b) Hawk ¢| (c) Snake ‚,$ (d) All of these tÓx
Q.No.2. Write short answers. (2<<<<2====4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) What is food chain?               ¯euHì?
(ii) Define food web.              ¯ezd$Å°p™,X
Q.No.3. Write long answer. (3) ----����ZZZZ[[[[KKKKXXXX
(i)  Define decomposers. What would happen if decomposers are vanished from

the face of the Earth? e~ìigiÅ°p™,XZ¤/i}ÅRÐe~ìigi»ƒYNÂHƒÇ?

Time: 10 Minutes Paper Science 8 Total Marks: 10

1st Month, 1st Week, 4th Day Syllabus: Unit 1, Food chain & Food web

Q.No.1 Encircle the correct answer from the following choices. (0.5<<<<6====3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. Production of  food and the feeding relationship among organisms at

different levels form a chain called::::
ZZZZŠŠŠŠgggg����VVVV6666,,,,YYYY0000++++ZZZZggggzzzzVVVVÆÆÆÆŠŠŠŠggggxxxxyyyyppppggggZZZZuuuuÅÅÅÅaaaaZZZZzzzzZZZZggggZZZZzzzzgggg3333********îîîîääääÆÆÆÆmmmmÅÅÅÅuuuu¯̄̄̄********BBBB@@@@****ìììì::::

(a) Food web ¯ezd$ (b) Ecological pyramid ZrßŠ0*],Zç
(c) Food chain ¯eu (d) All of these tÓx
ii. A food chain starts at the: ZZZZqqqq----̄¯̄̄eeeeuuuuÑÑÑÑzzzzqqqqƒƒƒƒCCCCìììì::::
(a) Consumer level +-%iCw (b) Decomposer level e~ìigCw
(c) Trophic level R,Z’Cw (d) Producer level 6,ze-uCw
iii. Carnivores may be: »»»»ggggããããzzzzzzzzggggiiiiƒƒƒƒMMMMhhhh÷÷÷÷::::
(a) Primary consumers 6,ZÎ~+-%i (b) Secondary consumers ²g~+-%i
(c) Tertiary Consumers R,Ñ~+-%i (d) Both b & c ŠzâV c Zzg b

iv. A fox takes____in its diet. ggggììììXXXX _____ ZZZZqqqq----ßßßß&&&&××××~~~~ZZZZKKKKppppggggZZZZuuuu~~~~

(a) Rabbit yÍl (b) Rat a; (c) Squirrel *~ (d) All of these tÓx
v. The dead bodies of the organisms are consumed by:

YYYY0000++++ZZZZggggzzzzVVVVÆÆÆÆ%%%%ŠŠŠŠ{{{{ZZZZ����xxxxZZZZEEEEwwww™™™™DDDD÷÷÷÷::::
(a) Producers 6,ze-ui (b) Consumers +-%i
(c) Decomposers e~ìigi (d) Secondary consumers ²g~+-%i
vi. Owl and_____take different organisms as their food.

ZZZZYYYY0000++++ZZZZggggzzzzVVVVÃÃÃÃZZZZKKKKppppggggZZZZuuuuÆÆÆÆîîîîgggg6666,,,,ffffeeee÷÷÷÷XXXX _____ QQQQÅÅÅÅðððð OOOOZZZZzzzzgggg
(a) Fox ß&×~ (b) Hawk ¢| (c) Snake ‚,$ (d) All of these tÓx
Q.No.2. Write short answers. (2<<<<2====4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) What is food chain?               ¯euHì?
(ii) Define food web.              ¯ezd$Å°p™,X
Q.No.3. Write long answer. (3) ----����ZZZZ[[[[KKKKXXXX
(i)  Define decomposers. What would happen if decomposers are vanished from

the face of the Earth? e~ìigiÅ°p™,XZ¤/i}ÅRÐe~ìigi»ƒYNÂHƒÇ?

1 1


